Name: SOLUTIONS

PHY 5246: Theoretical Dynamics, Fall 2015

September 28", 2015
Midterm Exam # 1

Always remember to write full work for what you do. This will help your grade in
case of incomplete or wrong answers. Also, no credit will be given for an answer, even if
correct, if you give no justification for it.

Write your final answers on the sheets provided. You may separate them as long as
you put your name on each of them. We will staple them when you hand them in. Ask
if you need extra sheets, they will be provided. Remember to put your name on each of
them and add them after the problem they refer to.



Name: SOLUTIONS

Problem 1

A particle of mass m is constrained to move on the surface of a cylinder defined by
22 +y? = R% The particle is subject to a force directed toward the origin and proportional
to the the distance of the particle from the origin: F = —kr. There is no gravitational
force acting on m.

(1.a) Write the Lagrangian of the system using cylindrical coordinates. Can you tell if
the system admits one or more conserved quantities (or first integrals)?

(1.b) Find the equations of motion using the Euler-Lagrange method, integrate them, and
tell how the bead moves.

(1.c) Find the force of constraint acting on the bead. If you prefer you can solve (1.b)
and (1.c) together.

(1.a)

Using cylindrical coordinates (p, 0, z), with
p = xX+yy, the constraint of the problem
is simply implemented by fixing the radial
coordinate to p = R, and using {0, z} as \
generalized coordinates, such that:

y = Rsinf
z =z S

{:5 = Rcosf

Notice that the force is F = —kr, where R

r = ri is the position vector of the bead ~ - _ _L -
and r is the radial coordinate of spherical
coordinates, s.t. 72 = p*+2? = R%+2%. We
can find the corresponding potential energy
using directly spherical coordinates (sim- B ,
plest), in which case: g | L

\

oV (r) .

or /

such that, T

F=—kr=-VV(r)=—

oV (r)
or

=—kr=V(r)= %k‘rz .



We could also rewrite F in cylindrical
coordinates:

ov . oV,

F = —kpﬁ — kzz = —VV(p,H,Z) = _8—pp — gz y

such that ) .
V(p,@, Z) = §k(p2 + 22) = §T2 )

in agreement with our previous result. The kinetic energy can then be expressed in
cylindrical coordinates as,

1 .
T = Z( 43+ 2 = gm0+ )

2
Vo= Ly lk(}? +2%)
2 2

1
= 5]{:22 + const.
such that, the Lagrangian is
1 242, 52y L1y 9
L:T—Vzim(RQ + 2 )—§kz .

We notice that since L does not depend on # we have a conserved quantity, the angular
momentum in the 6 direction,

Py = —9 = constant .

Moreover, since the only applied force is conservative, energy must be conserved. You can
proof this directly, by taking the derivative of F with respect to t and using the equations
of motion that you will derive in (1.b), or you can observe that: 1) the energy function
h is equal to the energy F, since the force is conservative, and the constraint is time-
independent, and 2) h is conserved because the Lagrangian does not depend ezplicitly on
time, i.e. OL/dt = 0 (remember that dh/dt = —0L/dt).

(1.b)
The equations of motion are given by

d OL Do

o _ 24 _ ) _ _

i 0 = pg = mR“0 = const. = 0 = T = const. (1)
d oL 0L y . 9
pris i O=mz+kz=0=24+wz=0. (2)

So, the particle rotates about the z axis with constant angular velocity 6 and oscillates
in the z direction as a simple harmonic oscillator with frequency w = /k/m (about a
position that it is determined by some initial conditions, not given in the problem).



Having the equations of motion we can also explicitly check that the energy FE is
conserved (this was left on hold from point (1.a)). The derivative of E with respect to
time is:

g d _dy/1 22 | L 2)
= = dt(T+V)_dt<2m(R9 + ohe?)
Y 1
= “mR%00+ 2—mii+ 2—kzs
o FgmEt B

= imz+kz)=0,

where, in the last two lines, we have used the equations of motion (1) and (2).

(1.c)

The constraint is in this case a geometrical constraint: the bead has to move on a cylin-
drical surface of fixed radius R = a, for a some arbitrary constant. The differential form
of the equation of the constraint is then,

aRdRIO with CLRzl .

The force of the constraint will be at all times orthogonal to the surface, so we expect
it to have only one component, in the radial cylindrical direction. In order to find its
components, we need to introduce a number of Lagrange multipliers \; equal to the
number of equation of constraints (one in our case), consider all three coordinates as
generalized coordinates, rewrite the Lagrangian as,

1. : 1
L:T—V:§m(R2+R292+22)—§k(R2+z2) :

and write the Euler-Lagrange equations of motion in the generalized form,

ia—L—a—L:CLJ)\j .

dt 8% 8%‘
In our case only the R equation of motion will be modified, and will take the form,
mR —mRO*> + kR =\ . (3)

Solving Eq. (3) together with Eqgs. (1) and (2), plus the constraint condition: R = a and
RszO,Weget, ,
A:ka—ma92:ka—l—3 ,
ma
which is the force of the constraint (just one component, in the radial cylindrical direction,
as expected).



Name: SOLUTIONS

Problem 2

Consider a simple plane pendulum consisting of a mass m attached to a string of
length [. After the pendulum is set in motion, the length of the string is shortened at a

constant rate

dl
dt

= —q = constant .

The suspension point remains fixed.

(2.a) Compute the Lagrangian function and find the equation of motion. Show that the

equation you found corresponds to the # component of F = ma applied to the
pendulum.

(2.b) Write the energy function (h) of the system. Is it equal to the energy of the system

(2.c) Is the energy function h an integral of motion? Is the energy conserved? Explain

(2.a)

your results.

The coordinates for this problem are

{ r = [sinf
y = —lcosf
with [ = Iy — at so that [ = —a. The only generalized

coordinate is {#} (I is a time dependent constraint, it tells
us how long the string is; the dynamics of how this happen
is neither explained nor given, so you should not consider it
as a coordinate!). The Lagrangian is given by finding the
kinetic and potential energies

1 1 . .
§m(x'2 +97) = §m(l2 + 126%)

1 .
57”(0&2 + 1292)
—mgl cos 6

1 :
T-V= §m(a2 + 120%) + mgl cos 6.

= — —— =0 = m[l*f + 2i0] + mglsinf = 0



. 9.
:>9—Ta9+%sin9:0. (4)

which can be simply interpreted as the 6 component of 2"¢ Newton’s law for this system,
ie.

mag = m(l6 + 210) = —mgsinf = Fy . (5)
(2.b)

The energy function h is

9L | .
h = 9% — L = 0ml*0 — §m(a2 + 170%) — mgl cos 0

1 )
— —§ma2 + §ml292 —mgl cosf |,

while the energy is given by

1 .
E = T+V:§m(a2—l—1292)—mg10089

= h+ma?

This shows that the two quantities are not equal, they differ by a constant term h =
E — ma?. This is to be expected since the relation between Cartesian and generalized
coordinates is time dependent.

(2.c)

Since [ = [(t),

dh _dB_ oL

dt dt ot
and h is not is not an integral of motion. The total energy E is not conserved either.
Actually, since h = E + const., dE/dt = dh/dt # 0. The physical interpretation is that
the system is not closed; the mechanical energy that we are adding by shortening the
string is not being accounted for.
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Problem 3

A particle of mass m and charge e moves with velocity v in the presence of an electric
field E and a magnetic field B, and is therefore subject to a force

(3.a)

(3.b)

(3.c)

(3.a)

F=eE+vxB).
Show that the particle’s equations of motion can be derived from the Lagrangian
Lo
L= g™ —ep+eA-v
where ¢ and A are the scalar and vector potentials in terms of which the fields E

and B can be expressed as

A
E:—w—%—t . B=VxA .

Show that the energy function of the system is

1
H:§mv2+e¢ .

Assuming that A and ¢ are time independent, show that H is conserved. Is H equal
to the energy of the system? Explain why.

Show that the equations of motion are invariant under a gauge transformation of
the form

¢/ = ¢_atA7

where A = A(Z,t) is a generic scalar function of ¥ and ¢, 0; = 0/0z;, and 0, = /0t
(Hint: consider how the transformation acts on the Lagrangian).

Starting from the expression of the force, one can work out F = ma component by
component (i.e. mi = ek, + e(x x B), = ...), or, using a more compact notation, one
can write that the i*® component of the force is

F;, = e(E; + €;,v;By) (6)



where,

E, = —0i¢p— 04, (7)
B; = EijkajAka

and summation over repeated indeces is always understood. The equations of motion
then are

mv;, = —€al¢ — e A; + e‘fijkvj‘fklmalAm (8)

= —€ai¢ — 68tAi + 6’Uj81Am((5i15jm — 5im5jl)
— —e0;¢0 — et A; + (V0 A — V01 A;)

dA;
= —EU; m zAm - -
ed; ¢ + evy, 0 e
dA;
= —e0i(p— vpAn) — ediu Ay — €
dt
and are equivalent to (notice that d;v,, = 0),
d d oL 0L
%(mvi + €AZ) -+ 82(€¢ — €’UjAj) = E&’Ut — 81’2 s (9)
where L is the Lagrangian function defined as,
1
L=§m1}2—6¢+6A-V. (10)
(3.b)
The energy function is defined as
oL
H = §——1L 11
]aqj ( )

1 1
= §mvz+ev~A+e¢—ev-A:§m1)2+e¢ .

H is conserved since (under the assumption that ¢ and A are time independent)

dH 0L

=5 =0. (12)

This is expected, since the magnetic part of the force (v x B) does not do work on the
charge (being orthogonal to v). However, H is not equal to the energy of the system, it
is just the sum of the kinetic energy and the scalar electromagnetic potential.



(3.c)
Under the given gauge transformation the Lagrangian L transforms as follows

dA
L—)L’:L+68tA+eV-VA:L+e%, (13)
Since L and L’ differ only by a total derivative with respect to time, they yield exactly
the same equations of motion. This is expressed by saying that the Lagrangian is gauge

muariant.



